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C-MOS INTEGRATED MULTIPROTOCOL PROCESSOR
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INPUT

; INTERRUPT ACKNOWLEDGE 1, 6, 7

INPUT

BUSW ;BUS WIDTH SELECT
cb1 ;CARRIER DETECT 1
CTS1 . CTS3 ;CLEAR-TO-SEND 1-3
DISCPU ;DISABLE CPU

EXTAL ;EXTERNAL CLOCK/CRYSTAL
FRZ ;FREEZE ACTIVITY
TPLO - TPL2 ; INTERRUPT CONTROL
RXD1 /RECEIVE DATA
OUTPUT

CLKO ;CLOCK OuT

€S0 - CS3 ;CHIP SELECT 0-3

IAC ; INTERNAL ACCESS

RMC :READ-MOD IFY-WRITE
RTS1 . RTS3 ;REQUFST-TO-SEND 1, 3
TXD1 ;TRANSMIT DATA

XTAL ;CRYSTAL OUTPUT
INPUT/QUTPUT

A1-A23 ;ADDRESS BUS

AS ;ADDRESS STROBE

AVEC ;AUTO VECTOR

BCLR ;BUS CLEAR

BERR ;BUS ERROR

BG ;BUS GRANT

BGACK :BUS GRANT ACKNOWLEDGE
BR ;BUS REQUEST

CD2, CD3 ;CARRIER DETECT 2 3
CcTS2 ;CLEAR-TO-SEND 2
DO-D15 ;DATA BUS

DACK ;DMA ACKNOWLEDGE
DONE ; DONE

DREQ ;DMA REQUEST

DTACK :DATA TRANSFER ACKNOWLEDGE
FCO-FC2 ;FUNCTION CODES 0-2
HALT JHALT

[ACK1 , TACK6 , IACK7

LDS ;LOWER DATA STROBE
PA12 ;BIT 12 OF PORT A
PB8-PB11 ;PARALLEL INPUT/OUTPUT
RCLK1-RCLK3 ;RECEIVE CLOCK 1-3
RESET {RESET

R/ W ;READ/WRITE

RXD2, RXD3 /RECEIVE DATA

RTS2 ;REQUEST-TO-SEND 2
SDS2 ;SERIAL DATA STROBE 2
TCLK1-TCLK3 i TRANSMIT CLOCK

TINT, TIN2 ;TIMER 1, 2 INPUT
TOUTT , TOUT2 ;TIMER 1, 2 OUTPUT
TXD2, TXD3 ;TRANSMIT 2, 3 DATA
uns ;UPPER DATA STROBE

WDOG

;WATCH DOG OUTPUT



